


(b)

. du 1
Letu=2x+1.Then —=2. or :du =dx. Further, x =

dx 2 2
I xv2x41dx
= %J‘(H — l)rfl"""?dff

IRy
= ZJ‘(H 2 _u")du

1(2 n 2. s
:1[7 2x+1)7 = ZQ2x+ 1) |+ C
113 /

A

= %(h +1)¥2 - é Qx+)¥*+C

(c)

: —x du : _
Let u=¢"—¢ . Then d—:e“ +e ', or
v

du=(e" +e " )dx.

e . 1 Sy
J‘E_—F—E’_fﬁ': ——— (" +e " )dx
X —X X —X

e —g e —e

= .i(fff

U

=lnle* —e ' |+C



Yes
Pencil

Yes
Pencil


(d)

Let u :\/;+1. Then

ﬁ :ix—]:"‘z — 1-**; . or 2du :L(h'.
dc 2 2512 Vx

1 R U
IJ§GE¥¢YH_IJ?+1J?d

:quE—q—C
= 2111(\/;—1)+C
(e)

1/x

1/2 e
I .f —dx
1/3 2

Let u= l Then —du = %d\: and the

X X
o .. : 1
limits of integration become T= 3 and
3
L f— 2
1 :
2
2
= —I e du
3
3
= J.ﬂ e du
-H 3
=(e")



i

£ =[ f(x)dx =[x dx

Let #=4—x>. Then ﬁ =—2xdx, or
dx

—ldu = xdv.
2

I xe4_xz dx = I€4_Iz - xdx
1

_ ‘[ u
= ZIE du
:—184_3‘2 +C
2
Since y = 1 when x = -2,
A2
1= —l A4-(=2) +C, or
2
c=2.
2


Yes
Pencil

Yes
Pencil


=
dv 2-)°

dc  xy
Cross-multiplying gives
xydy:(Z—yz)dx.

Multiplying both sides by 1 -
X (2 -y )
. y 1
ives dy=—dx.
g 2y Y 3
Let u, =2— y Then, di —2y, o1
dy

1 o
——du, =y dy . Substituting,
2 TS

I 1
—-—du, = —dx

2u, X
Integrating both sides,

—270’11 -J- dx

l1¢1 1
_Ejzdul :I;dx

—%ln|ul|+Cl =In|x|+C,

-

-

_%111'2—y2| =In|x|+C,-C,




——In|2—y’ :].I]‘X‘+C3
n|2 3% =-2 111‘:«:‘—2(?3

In2—-y*|=lnx"+C,

. ~ 2
Solving for y~,

Eln‘i—yl| _ elnx_g +C,

2-y° = P

2-y°=C,-x~
}-‘2 =2 - C'ﬁ.nr;'_2

So, " =2+Cx"".

SEVURH
d.r:sm\/;;x(o):_l
dr  Jt

dx
t)=|—drt.

x( ) ~ S0

sin \/7
N=1-7,

Using substitution with 7 = \/; and



2du =Ldr_,

7

= 2_[ smudu=2(—cosu)+C

= —2003\/;+ C

Since x (0) = -1,
~1=-2cos0+C==-2-1+C
or C=1

and

x(r)=-2cos /7 +1

CERaR

1 Lo« 1. .2x
fm-—.l_(_l)f_l[ﬂ (4-e™")]dx

_ 1 J._ll(ile_x —e")dx
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CEVAY.

[73/ () +2g()]ds
3:12 f(x)dx+ 2[12 g(x)dx
3 j_3 £(x)dx— L f(.r)cfx}

+2 “f g(x)dx — I_l g(x)dx}
(5-0)+2(2-4)

-
2
-
2

I j g(x)dx=G(4)-G(4) =0, where G(x)

1s the anfiderivative of g(x).





